Chapter 2 Compound Interest

CoMmPouND |NTEREST.

EXEECISE- 2.1

Solution -o1.
P‘u'mf_'nP::d fos the fivst Year = F s, 000
2R ,000 % S¥

Tntevest fov the pivst Year -
loo

= FYoo

Amount after one Yeary = I B.000 +FYyou

= 22,400

Tntevest Hos the Second Year = T B,Hoo ¢ 5

loo

=3 Yoo
Amount aflet. Sesond Yeax

"

TS, 4yoo¥F 420

I

T], 820,

compPound TInkevest aqfter o jears = final amounl -
F"fmhrﬂﬁl

= E\E%ngad?gﬁﬂﬂtﬁ

= 320.

Selukion -02.
Principal for the fivst Year = 3ye,g35-
Rate of ‘ntevest = ).

() Tnltevest fos the fivsh Year = TH6.BFS xy |
' \o0

= T lx3FS

Amount after one Yeay - Fygs a5+ 3175

= Y48, #+s50-



T YB . F50%Yy ¥

e

iy ‘iﬁkere.gll— Tox the Gecond Y earr
oo

= F 1950

4he amount stonding 4o his credit abt e end of

EECDh:!l Yyeay = QH%,#EG Y 21950

=

- 2 50,7F00.

(") Tnlevest for the Hurd Jear = < S0, Fooxr Yy |

loo
= S04y
= T2,02%.
Solution-p03,

princiPal feor the fivst Yeax

a‘%rGDD.
E.d..jcf [ﬂ IHLE'TEE.I; 41 JB

Tntevest Jov He Figst Yeax

3 B,0004 1O
., oo
= FR,00

Amount after one Year - I &,000 % Tgoo

= I, Bo00

Trkesest —for bhe Second Yeaotl = %"E:_.%DG ALO )

oo
= RRLBO0.
Amount after Second Year = TR .B00 + IBG0O
= 4,680

gamﬁc}uhd mbevegh JFJ;:.T’ Llve Seénncl Heat = F



ln"csz'res': for the Hiivd Hear = ?Cﬂ,agam?__m
‘oo

= @468 -
Sum due at the end ©F e thixd Year - 39.¢a0+ 36
= 10,648,

Solution-oy4:
PT'Lﬂc_'uF‘ﬂl for Hhe divst ‘3&'&%‘ = 1, 28Bo00

Rate of Ankesest - \o..

Inberesl for the Hivst year- T12.800%1ov)

loo
= J12%0

(17 Amount ab the end of First Yeay = 313,004 3 126

I

2 14,0%0.

CWd Iﬁ‘lbe"ff-ﬂ}' +tov the Secand Eji?ﬂg"ﬁ; 5"!%,'1:3%{3)(!0}(5
“_‘_\‘_\_‘—|_\_'\_

loo
T 2LYyor.
Armount at the end of Second Yeay - 214,080
T L Yog
=R i5,4]q.

tntevest foy the third Year = 15,488 x lox)

oo
= 2154%. 8.

giy he total amount due 4o dnim gt the end o¢
| three years - Fis,yea+ Fisyg. s
= FIT, 9365




Intesest fov o years = 21380

= Pl DL

= 3\280
loco

= 2y L123]8000

=  sam™m of money = <L 29,000

=y
= Tsutso.

Pﬁﬁciqu, fot the pivst hall Jeay = 3¢ Iso
Iﬁl,LETE'Sl' ftor {he '?i"'i'fﬂf kalf %Eﬂ'{ S 51—;503{51{
-—._-_-_‘_“_-—-—n___‘

| O

= % SF.5y,
= FaLs,

Amount after He Fivst halt Ejeaw

= E S;:l'ﬁa+ 3'3115

= 2609s

Irtevest for be Secord half Year - Ico0qavey;
e e
loco

T 60.95% ¢

- 3 36 =P
. C;Dmpgqnd 17‘:1-4-"‘@51‘ on this Sum for oGne N eay Pb.ﬂn_j:,ig

half Yearly ab the Same vate = 3 3¢, t T365-7

= ZF 1lln.1n



Splution -06 -
P‘h‘rlﬁﬂﬁ F’Cl.i for H.e —FLES{‘ UEC[T = 1,000 .

.Amc:uﬂl: afler one Yeor = 3 1l,2.00

Tnlevest for the fvst ear = 3 11,900+ Fro00

A
= 32 ﬁlc:-o
Robe of Interest for the firel Year = ¢

Talevrect For the firsh Year = 10,000% 74|

len
> \adéxidd .
A\ dpPd
=5 A= QL
Ih'c:ﬂesj; Tor He SE:cgml.:[ Year = 11294« 1.9 |
--_‘_-_-_‘—-—._
I;Es.iﬁ
T2 X2
= 2134y,

Amguﬂ-‘: C\'L _H""E 'Ef'}(i of SECDT‘!C‘ UEHY‘: =Y QGD*ELBQQ

- Q 'H'-Q,r St‘fL‘fL
PvinciPal for the fivsi Yeay - 35,000

Afﬁ-:::nuﬂ1: aftey one Tdem z $S,600

; 5,000
= 2 5, ﬂﬁﬁ"{ yl

‘JbSI’ - FEoO

= & s a:ﬁgw

(D = Rale of anlevest = 19+




(D Iﬂlreregl acuved in the Second Hear: ?Mzﬂ
Do

= 2613,

| aftes second Year= R 5,600 4 2672

= 6,278

(i) In Lesect forw the thivd gear= X 6.272 %1y |

Do

= FEH. 14 x12

= R7186y
Amount aller third JEar= Fga-y | 2758 .4y

= J1,08Y4-€4
principal “for the Pirst Yeax = 2&,000.

bad s
l.nkea'e':;{ for the #nrsjr Year = Eﬂnoctﬁgﬁ]

loo

= Z22,000¢%2

a0
A 1 ¥i } - =ree
ount aftey fiyg Mals Yeos
o E&JDG‘D j_Q:IJ‘:'ID
= 23100
Tnterest For khe Secmno" Jha;l:}-—ubt%: ngxggw.ﬁﬁcf
| GO .
Aamount afley J Beond Jq-qy&f—g
€y = 23900 + g
' )
' . = .?{—3175&_135-

A4ap |



|
If‘]‘l‘_ETE’_‘EL ‘EDE the Sfﬁﬂ"l-d"“tla-‘_—f &J”:‘l__ 'Hgaj,

_ Qéafisi1

= 2 lal

. compound dnkesesl afler 2 Yeons . 2200+ 2820

+ 3 1al
= 254
Amount Jo e Paid QFI—E’TE}:{ Year s - Q‘QIDOGJJEM
= R4, 54
solution-09,
principal for the first halfjyear - 3 50,000

Interest forithe firet haldt Year'- 3y, OCO XY 4 |

"-"——-_-_‘
oo

= 22,000
Amount aster the $irst half Jear = 2 50,0004 39,60,

the S€cond) hQI-F{jeqf——

Intevest Hoy bee SCcond hal¢ Year

Princ Pal afOr 359 000

= 2532000 vy |
*-__‘_-———__.__
loo
= Zsaoxy
- 2R3080.

Arnount atter the Seqond half deay = 59,000+

FR 080
=54y 080,

Principal for thixd Year ; ?5‘1;0&@_



Solubion- 10,

Siven +hat A=9261, Nz=2 4e=s

_ LA
A= P(**T&}‘)

4261= P ( 1+ _ng‘
_ 3
261z F’(h+5_'~_o}

Q2E\ = P 2\}3

qlgliiDiﬂﬁi&g

— A
&1121i1h =

L =S MQOG
___'__-__—*-—__-,...\_‘
PTIﬂC‘fPﬂ-l = 5.%,-60@.

Solubtion-1y!

&wvent that A=1,203%, N=2 =9

A= P(Hl

™
I_::Jo)

Tso3E P (14 2\
lod

1|02 = P( \+_é,c‘,“

202 = prsixs)
SoOLSO

P = s 01, S
T 2599

e o P:-T‘E-m'



Inkerest for e thivd half Yeax = 3@%31

= E‘squ.gm
= 2 aigza

Amount after third halt Yeor = 36y 0gos 9 1620

== -{ I';'E,.S’L'Ealo.
- ComPpound 1"‘31‘3‘1’55[’ Lo I-}g Lljmr::.. = F SE;&HE-E'&;EFQ‘
= 6243

sclubon-io:

P nciPal ormnounk for the Lirst Year = LS 000

Tﬂl"é‘ﬁ'ﬁ"ﬂ‘: for the fincl Yeany - 2 S, 00 &\

oo

PxTﬂDHY‘j"; o ‘I.‘E"E 'Fh"g‘l bE’qT :EEﬂDGDﬂ'ESGU

=35, 200,

Intevesl for He S€cond Year - 25,300x ey |
‘_-_-_-_-_-_-_-_‘—-l-___-

IDD

= I S2vg
=42y,



Solution- 11 B |
o ol fos e disel half Yeary - 3 T, 000
PT"L‘I"‘!CFI

for the fivst Year Do . - El-’;ﬂﬂ?ﬁ,!cﬁl
Inkevest o —___I{j{j
= :il,"lc)c::_

Arnount after fHrst Year- EIT,Dc:ohg;,-,,Dﬂ

= 318,700

econd ear 1oy, - |2 TOoxlox |
Tntevest {fowr the S J @10 E—J_hh*
loo

=330
Avount afley S€cond Yeay

2187004+ 3 18 7o

S QOp5 0.
Intevest 4oy tise E‘H:rd Heay @IL”_ p %&UE_EH-Q‘R'I.H}:]
OB
L B879.9

I

Fl

Amount aftery hig Jear - 220,570 +%‘QE?_?Q3

T R e Hygae

3, )
+ 24498 23,4y44.4
COTT‘\PDLLﬂd In{-ETE"S't C:I'FLE"I" th-ﬁlff b’ea_ﬁg__ Q@T'E‘H‘HTEI"&--
I3, 000

= é:r"ft-]cl'-,ﬁﬂ-



Sglu{'iﬂﬁ' 12

pvincipal for the firsk Year - 2 9,600

Tk g ' =
nteregt for the fivst Year = Ei@,‘?ﬂf’j"fﬁx;

1$¢
= 2960,

Intereglk for YW serond ‘déﬂTz 2\0,5€0 \
_ / YN0y

‘_-_-_-_-_'_"‘-—-.____
loo

= 31,@56

) Sumn e &t bae En_;i of Sécond Years - 3 0,5¢
- F R (]

+ 51,c}g£

T 2 1,626,

U ComPound  Interect eaxned '*hlt}eﬂ_-;s

W) X
§ P diff of (1 omd (i) - 1,626 - |
& = D"EEG

= 3 loSe6.

ankevest for d.J‘F-FETEnce 0+ amount fos one

Heowy = 2 1c0o56%104)
lago
= 2105.£0pc



ound Inkeres! for third Jeaa: 3 10564 3los.6
Layy
o =3 W El-60.

Solubion-13 -

Simple ontevest on certain money FOY 2 Yeqmy

@ wir s = |,600
A by Z-
=> ha = 1|, 600
yod
=

=) A= E;DGD'
PrinciPal = 7 & ,000.

Intevest for the %Irfs,.{n-'idm: E%.DDDKID)E]
'_’-‘—-—-_‘_-_-_‘_‘_‘_‘_

loo

“Z2oo.

Arrount to be RZI‘Pd cfter one de‘“ﬂ S o i 28 0n

Irtevest fos the Seco nd Heay - EEJED:}M Ox |




Amount after three year = 9,680+ 2 qe

Compound Interest for Hsee Hear- T aan + 5% Qn
+ 3 HJeg

= F.648.

Enlu.l:h::h—l'ui:
principal for the Fivst Year - 26,600

Trkevest for the firat Years EE-"—Q—?E,"E’”
oo

=Z200.
Proount fafbtery fvaet Yeor = JE£,%00

Mon€Y @efoid |=r¥ | yBd .

Principal for the Secorsd Yepy - DE,266-1200

- 3 s, l0oo.

Tnterest for e Second Year = 5%_:%5;: |

¢
= TaAges .

- Prvoerc Pmount af ter Eeggﬁ.:! lje,;.f

-

* 2S,1c0438¢¢

- s ,2sC

* : . _
A;ﬁtnndinﬁ at Lne L:&fj,.mnj of Hrd Heey

—F e, 25T ~\20>
= F Yy \s< .




Solubion—15:

F"ﬁ"ihCTFﬂl tor the 'FiLT-E:If- tjECl"f = iiDDDD-D

Trtevesk fov the fivstyew = J1,0006px iy,
__--_--__'-——
l¢¢
= X 1,000

Amount after one Yeas:= =
= \.Co,0n0+3,,
’ 006
= 2 L ooo

Monewy TEP::J::E ofter one Qear=3 Yy |,00
4 o
el pal Fov Second deav = I \11,000 - IU 1 g
F:-s— LR r::-i - 2

= X Mp,000

Tnkevects o the BecdpndrYear—= a'qopgbﬁxum

| co

= 271\ 00 |
AT“"‘GL&T\’C D".‘P'L'E.Y EE.C.::HC! ';jiia‘l’: I 3 0,000tT,Feo
= = 17,700,
Principal for trird Y e :F{qqﬂﬂﬂ*?qﬂjgﬂ

= L 30,000

l_‘—_'__—'—\—_

i_




solukion -16 5~
solukion -16

PNR

loo

Simple Tnkevest =

— Zo,opPx 8.5%l0

| éd

= T Aoox H.5

= 2 5,000.
Cr::-mPounulEJ for frieng

Trkevest Hox the first year . ZA0,0ppxiLlg
o

= 22,000
Arnount afler ome ey 228000 +rT Ao
)

-1 E‘ﬁ.&faﬂo_

'IﬂJcEres—L- attey {\e SEE.UW:! Yearn = Fa9 ,Dr}) X lox)
I;bﬁi
= Z,2200.

F—\m::mﬂ‘! CJ:.HE? Second &Ea.% = ?JQ;DDD ;39
! oo

= 24,900,

Inkeves tfor second Year Emonths - 39y 2apvey
‘l—-—__————_.

| oh
- Flalo.

2 Y,500+ 5-2.'}::

= 254/0,

.8aun = 25,410-25000 =Z ylo

L Total amount -



EXErRCIGE-2Z.2-.
Solution -0\

vswng the fosmula, we get

2
A= $E.ﬂcﬂ(l+1—m As P18 T\

'.
R Sﬂﬂoit Iele

4 GRAB 2, S3AE D
G

I

35044

- 3 Sye3*rs3

i

E \o 6‘:{-53

25,618

c-T = 3 5,6l8- TSc00 = FEB.
Satl.d‘-lﬂr'l'—mﬂ..:'

WS g formule,, wie Jet

A= Eg,amtii—,&}hl

\od
= %000 ( *f‘j

o+

= EQJDDD{ I

= 2 E.DGD[%)H

_ %h"ﬁ;:libdﬁﬁ ﬁuﬁmiﬂ T
;%mu?itq %\

_ S8 66y

5 "
I L T

CT - IWNLS- T @aoog = 23,280



Selukion-a3:
gince,yate of ‘nkerest pevy annuwn (s 7, trexefore,

Yake of interest Per comvevsion Chalf yeary) = 3.5+

As te money c.urn.r:cm.ndecl half Keavly
Nnumber of cenvérsion Pevipds- o

L]

M= P(H E.j

loo

2
= RNyoof | 4+ 2.5

LT, 400 14 L }L
40

= E 1,'-{00( HE[)L

= & v°
= R edx, Yl xm
aprgp

= T8 .62%

Avount = TT77Y.6ogps



SolukioNn—04
Since Tote of inkevest Per armumio’l-, Breve fore wale
oF ’m%ef eet FPey convereon = 5'I-

AS He money compounded gemn ﬂmuo\.uﬂ,

N inumbet of ComvVersion Fﬂf'ﬂf:’le".i = 32

= E.Dao(l"*%)

2.5

- %éﬁ-gf:f&;u;ﬁm RS A2 VL2V A 2]
paASp g 4

€ een POV TInkevecst = 5, 78%.126- 5,000

18a8.125.

1

Solution-065.:
Since , the Talke of ntevest pey AL manbhg (anruwes)
Prevetare vale of nlevecl Pe¥ conversion = |

q Y

= | v

fie the woney  compound ed Wiahtonly

Nnlnumker of CorvevySiansg) - =
3

=3,

~
= |4 O
a P(v. loo



\oooo ( | SO+ f’
lco

\o e |10V X 10V * o]

Do TR 1-:156

]

CompPound Interesk = |03,030-1c -1, 00,000

= F3,030-\0.

Solution -0g:

Psincipal = 4300 . n=2A ¢ R=-g .

Simele Thievesk = EBAN xR
L oS
= Y%¢byaxs
P’
= I4=so
A= x
(1+ h::ch P
= H,%Do( 4+ =
\oo

1
H,*anc;[ l+_1.l._m'\]

i

= Y,800( 221\
= L})g'qﬁi&wm
24+ A9
= Z\2 42\ 23\l = 5,292 .
CI = 5,292~ Yy, 800 = 492.
S Difkesencee = J4q2 - Fyeo = 312(cT-5T)




Solubon-071°
PT'.,.ﬁ.r_tix_[ = 28,500, NT2 and R= Y. Pey ornur

Eﬁmpte InLeresjc - PYNLR

OO
ted

= I R00 .
Gwen thal compound Thnieyesl Yecokpned Seml

ﬂﬂﬂuuo-jjﬂi therefore n=4 4 R= -j_,_&.j

2

Az TS 5:::0([-1'
Too - p(pr‘er

[s'9

Q,EDD(!JL % )

SR ST EJ)H
el

T Rsecyowxsixsixs)

= 6MWMé6s,20|
LS00

- Q,WDGﬁED

coeroPound Inleves) - =,706.80 - 9 Soo

= R2,906.%0.

S pwfexen ce belween 5‘-.mP'|E IHLEre_E.L
Inl:arr:.E.L <

CT -ST = QDQ;EEG—&DCJ.
R E.O0%



Solution - 081 -
Eff;"-.l'lﬂn H‘K}.": .

Princ pal for the Hrst Year = FTa ooo

TIntesest fov bae bivel yeny - 5?-5(-?'13:& %y
I o .

= I2o

F’T\‘I'\E-Ipa.l :—gf b‘\E Qﬁf_‘end lﬂ-ﬂ‘-'h'f 5 %"{}110%@

Tnkerest fov e cccand
: Yeay = aﬂmﬁi
3
= 624

ComPound Inkevregt = I oo 13 E2.y0
3 CANERTY

Soluki 0w og
PRy (g
= 3,\15(1+U~ )@v? 3@*5
S ij:a-;CH [wr_‘e_)f".i-:a.')

15 & 13
= 3 TAZLL2|\w 52

R
Y 3=

= WMM¢9
Yy
= 361025 .

ComPound Tnleverk = 3617125 -212% “14q2.2¢




Solukion 12

Ghvent that A =1326s1, n= -

A = P(Hl_"a;ﬂ“

\326s! = P( |4+ & \3
(]

io
= E(l#—‘i .
sc /4 = 13269

D P oAsitg vy

SO xsorce - '3UES]

P= \22¢s X Sorsous,

'&—IHKE]}{_%}
S e 1 el
l___‘_‘_""*—-—.___.

= =
P_ 1:1";,::»‘:.@.

Solukion-13 -

A=p(1rX \"
(R=1e

=P Y AT
¢ E:::\j

'=F'[1+i§ g

= Pr26v2zé
e T

€T = 86426 (py-p - 616pP62<P

5
o i &

i} o1 = E*'"_IF_
[ =




-, 5,7\2= SI\P

&E1%

o STV EerT
=P

S

=3 £="10o,000.
.‘:':Dkd:]{)ﬂ-—"ql-l_'.

A - 1275, p=\1200, =l 4 R

1215 = 1200} t \ia\)n
o

TR ; VLS

\2bd vad®

= ¥ e |LS
|2

=3 v = 6.25 /.

.
T fov Second (d.ga&: ‘&M-EE
| oo 1

= 19 £%-7=s

| o0

= T19.6% .
QU*“PCMHCL Tnbevest for Sfﬁﬁﬂﬂl Yeey

= ?‘%u



Solubion-1g

G"ﬁ\]&ﬁ ‘Uﬂﬂ,_l:- H:EEGD, = 235"*—!, Pz 2 'ﬂE:']

r I S

2500 = 220y ( 1
\oo

=
i =[1y ¥ =
;’-30"‘1 | oo

= \OO+% - h@;m
oo o

=]

= loo+s j;f—
= 50\*

\oco .L”EJ
= oo+ = loovso
4e

= Bt WSSO0 O

H%—lcc}

= ¥ - Sopo=YHeoo

ol ———

Ul oo
= % = &éd?
Hadb
= = 2
2y’



Solukion-1¢g -

Siven thalt

P'.-_: o= -
i Nnz9 * =19
U;P’ \ '

= H:P[’k%i—..\;'

(Yl
— V4 B .L_, Qe
YY) = = ¢

| €
+ ¥
2ot \as
\oo e

%

=% ooty _ =

s —

Lo o

= T = s -\lpo
\
—y 42wl

sSolukion-\T7"

A= P[ |+ 5

LoD
o 3
= 22,¢.1% = 2,000 (‘1—\‘__
Lloo

— 22 5 .15
i — - \oo ¥\ >
..?;;}r::.a = )

oo

= _%_-_?:E? - 0o+ s ,
9.c00 = Egtg,igi‘mﬂS = 4,
b ' lco = Gootny

_ St RS T

- looty

' = Eﬁ‘m ~ ooty
= g,i (Los%® = ooty

= TT'OE;—'LGG Y



Solution-1g .

Az YR62DZS , Peyp,e00 ;| 7=

M2

M= ALY =y

A = P(.-'.+ =

= US,620.25 = LID_DDD('-‘*'E
o0

1004 R\H
= DO

Ho,000

L
= [Linb-+E}L] = ha,620.25 £ LO0K 2004 0 000 Sp,

Goocn

= : ¢ = S (2007
(ROo+RY - mg}‘t.&aof“‘
— Jo00+R = L\t oD W TS

= R 2"946 9 g0

Soluron-\q !
QT A - 2186
'EF; | R =]
P\:Prl"rl‘: "
- Voo
= =214
Tac ke P e
= 1{30"‘"":%_1*;
\oo© \og

= \oots = Exloo
=

= T= \2Lo~-\100 = 2.



. Rake of intevest - 90y

= Yo
Solukion-20

awen 4hat A =gg 200, P=20,000 Nz g

A= P 14 X >

o0

o BB 2&d

- |lbod ¥ L
So04d loo )
= ial
n Ao\ ¥ T .
20L90% N
oo
%
= 2\x\od
=1 17¢ST
=3 ¥ = |\pg-\0D
= ¥ T &
P"ﬂ' 1“‘:;?&1 T RB, 200D
cT = B%,294x 1t s
Lq:q;
T BRivwg
= j.4\0

Amount o be Paid ad ter 3 Yeare = P4 r"-i

=85,2001+ 4 Yo

:‘-'qlzgfﬂ
- -A=399 ¢le.



Solubion-2L

Let the “Eﬂ..l:f.‘ o C-D'l‘ﬂFﬂLlﬁd 'inLETesl— be 4. Pev ormnum.

The amount aflkers will be the PFincipal 4ot e

'C‘v'il"ujt i e

— Coof 5o

= S292 ( \+ 3

VOO
= {4+ 3 _ sSsébo
Voo 5294
= ¥ - 8s5S6-60-S529%
\oe N ——
290
=" T = ﬂéﬁgﬂr
= 35

= T = = b

S The_xale

R s292=p

=

S p-

= b

sum™ Le P

(lsrg .

oo

Px 2ixa,
Qovwdo S292

S29x %ypo

_\-_-_-_-———-

Yy

\&“Huc

=5 P:iHEUu .

Seoviinal Sum s ¥ 4.800

SSS 6
= 252

{342 Egﬁxpﬂu“cl in"tE‘EEE.‘L =5/ PET Snnum
Let the o¥iginal



Solubion -2.2.7.
ek the vatke arf cemPound In&Tegk be w. Per anmum

The amount afber 2Years (1 be e Principal for

te qﬂ“ﬂear
=3 BBy 6 = T98.¢o [ 1+ 7
oo
=Y S12-46 . loo4y
18 .60 loo
i, ¥ = 2718-46 -199.406 E78.y ¢
5 —_—
=p 198 .0 E;f__':_"_
19.17g
‘_—"5 ~ = -IqEG
-_-_-—-_-_
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